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countries to work in Japan.
necessary to

| agree that Japan should accept more people from other
First, in this aging society, it is
increase the working-age population. This is
especially important for workplaces that need many workers, such
as construction sites and nursing homes. Second, accepting

4 people from abroad will bring new ideas to Japanese society. By
exchanging opinions with people who have different cultures and
customs, people will be able to make something new and creative.
Therefore, | think accepting more foreign workers would be a good
idea for Japan.
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